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Germany and her Allies after WW II

A) Germany

· Allied Control – Agreed to at Yalta, 4 temporary zones of occupation until De-Nazification is completed.
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Agreed to at Potsdam, Berlin itself is divided into 4 zones of occupation by Britain, France, USA and the USSR.

 De-Nazification
· Leaders brought to trial at Nuremberg: Hess Goering, Ribbentrop, main ones.

· “Following orders” not accepted as a plea.

· Politicians and Generals are accountable for their actions.

· Those who joined the Nazi Party before 1933 were prohibited from certain jobs.

· All reference to Nazi glories were removed.

· Many forced to visit and witness atrocities at extermination camps.
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3) Permanent Division – Liberation through to Occupation
· Contrary to agreement at Yalta and Potsdam, the USSR treated their zone as a conquered nation.

· A beginning of the breakdown between USA-USSR relations.

4) Peace Treaty – Germany

· Meetings in 1946/47 – Britain, France, China, USA, USSR.

· USSR probably did not want a peace treaty because it would technically end the occupation period.

· Never an official, formal treaty signed.

B) Italy

· Classified as a co-belligerent.

· USA and Britain wanted leniency; USSR wanted to punish Italy.

· Italy lost colonies, army/navy reduced, $360 million in reparations to the USSR and Yugoslavia.

C) Hungary, Rumania, Bulgaria.

· Britain and USA have little say as the USSR was occupying these nations.

D) Austria

· Divided into 4 zones, just like Germany.

· USSR removes machinery and oil from their zone.

· 1956 Peace Treaty after Stalin dies

· Declared neutral, all Allies withdraw from the country.
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Asia after WW II

A) Japan

· Occupied by the USA from 1945-1952

· Shattered, but recovers quickly through American help (Imperialism?)

· MacArthur reforms trade unions; women get the vote, revises constitution, improvements in agriculture and education. Basically democratizes the country.

· San Francisco Treaty 1951: America needs to rearm Japan because of problems in Korea. USA uses Japan as an Eastern force against Communism. Japan becomes a sovereign nation. Military alliance with the USA, basically making Japan a satellite of the USA.

B) Korea

· Became a Japanese colony in 1910.

· Rhee (nationalist) and Sung (communist) fought against the Japanese forces.

· As promised at Yalta, USSR troop’s invaded Korea in 1945, USA occupies the Southern Half of the country.

· After Japan surrenders, a Communist North gov’t is created under Sung, and an anti-Communist gov’t is created in the south under Rhee.

· The 38th parallel was to be a temporary boarder.

· USA and the USSR pull out.
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The Cold War – Part One.

Origins of the Cold War

· During WW II, the alliance with the USSR was an uneasy one for the Western Allies.

· The Russians always argued that the West was not doing its share (no second front until 1944).

· The Soviets still believed in worldwide Communist domination as a foreign policy.

· The USSR believed in establishing Communist governments in the “liberated” countries.

The Truman Doctrine

· In the 1820’s, Presidents Monroe had formulated the Monroe Doctrine to keep European powers out of American interests in Latin America.

· Greece, 1944 – fighting broke out between Conservatives and Communists after the Nazi’s left.

· Britain intervened with arms to stop the fighting.

· However, after election in 1946, the Communists had a great influence, worrying the west, and Britain did not have the finances to help any more.

· Result: The Truman Doctrine: President Harry Truman stated, “It must be the policy of the USA to support free peoples who are resisting attempted subjection by armed minorities or outside pressures.”

· Truman and Congress voted $400 million in economic and military aid to Greece, thus ending the Communist threat.
This was a policy of Containment by the USA, which would have reaching effects in relations with the USSR. This meant that the USA would tolerate the Soviets expansion up to its 1947 limits, and no further.

Post-War Europe

· Europe was devastated after WW II

· Economic conditions were worse in 1946 than in 1919.

· Suspicion, mistrust was deeply rooted in society.

· What followed was some stability, but also widened the rift between the USA and the USSR.

A) Western Europe
· The Marshall Plan: 

· A plan for the economic recovery of Europe proposed by the American Secretary of State Marshall.

· USA believed in political stability through economic stability, unlike after WW I.

· USA offers massive economic assistance to all of Europe including the USSR and its satellites.

· Stalin rejects “American economic Imperialism.”

Points:
- O.E.E.C.: Organization for European Economic Co-operation – controller of Marshall Plan money.

· Planning from European Nations, financing from the USA.

· Tariffs reduced;. production re-organized

$17 Billion between 1948 to 1952.

The Berlin Blockade – The Berlin Airlift

· Britain and USA wanted a united, democratic Germany – USSR did not want this to happen.

· The West then went ahead and created a currency to be used in the western sector of Germany and the western sector of Berlin. No discussions were ever held with the Russians about this, which angered them.

· The USSR then closed all road and rail links to West Berlin.

· The USSR then began to shut off power and water to West Berlin

· This was done to try and drive out the West from Berlin, hoping they would give up on keeping control of their sector.

· The USA and Britain then began a massive airlift program of supplies to West Berlin, which would last for 1 and a half years. The West would not give up on Berlin. Supply planes landed in Berlin approximately every minute to keep West Berlin alive.

· Finally the USSR stopped their blockade.

· A defensive victory for the USA in containing the USSR in her attempt to expand her sphere of influence.

One of the main reasons for the USSR backing down was probably the fact that the USA had nuclear weapons, and the USSR did not have them yet.


2) N.A.T.O – North Atlantic Treaty Organization
· 1949 – A direct product of the Berlin Blockade, and the Cold War.

· An expansion of the Brussels Treaty, engineered by Canadians St. Laurent and Lester Pearson.

· Britain, France, Holland, Belgium, Canada, USA, Italy, Norway, Denmark, Portugal, Iceland, and later Turkey, Greece and West Germany.

Eastern Europe

A) COMECON: Council for Mutual Assistance between Europe’s Communist nations. An Economic agreement that would be the EEC’s equivalent.

B) WARSAW PACT: 1955 – A Military Alliance in which the armed forces of European Communist countries are under the control of the Red Army. This would be the equivalent to NATO.

C) COMINFORM: The Communist Information Bureau.

* Yugoslavia would not be a member: Tito had gained control of Yugoslavia, and set up a Communist government, but fought against Russian control. Stalin did not push the issue.

D) Conclusion:

Cold War: The psychological, economic and diplomatic conflict between the USSR and the USA which dominated world history until the breakup of the USSR in 1991.

Britain, France & Germany after WW II

A) Britain:

· Emerges from the war victorious, but economically shattered, and physically destroyed.

· The Labor Party (Atlee) wins election-defeating Churchill.

· Expansion of social services, a welfare state

· Rapid decline of the old Empire and Prestige but still need to be involved in International Affairs.

B) France:

· Provisional Government of De Gaulle forced to resign in 1946.

· Problems with old Empire: Viet Nam, Tunisia, Morocco, and Algeria 1946-58.

· De Gaulle returns as virtual dictator in 1958 to stabilize the government, which was fractionalized with Nationalists, Communists and Socialists.

· This probably avoided a civil war, but other problems.

· Refused NATO, refused Britain into the EEC, they get the A-bomb.


C) Germany:
· Emerges from the war defeated, in economic and physical ruin.

· West Germany (F.R.G.) created in 1955

· Capitol of Bonn – Adenauer first Chancellor – member of NATO.

· Cold War ally of the USA.

· Marshall Plan triggered huge economic recovery, re-construction, transportation, steel, autos, tourism, and trade.

· East Germany (G.D.R.) the German democratic Republic set up by the USSR. - Soviet Satellite, puppet government, member of the Warsaw Pact.
General Situation:

· The USA saw the USSR as a menace dedicated to International Revolution.

· USSR saw the USA as a threat through her military alliances.

· USSR gets the A-bomb in 1949.

· Both had the hydrogen bomb by 1953.

· Both were developing missiles in the early 1950’s.

· USSR was at the time able to economically compete with the USA.
Both sides actually welcomed the death of Stalin in 1953, could lead to a more open relationship and less tension.
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